(1
Olw’w RWIL Le.o‘}'m <.

@Ja/g mow'm) on, (9/4'{ 01\4J< 7%315 you kmeAy\
of /OJN)"H.M ’s wp 1o M
Rwlw o D]wh[LMY

GIM-VI QK oSml/VQ, nu/mbv A mu/#'f/c&/koq a[& L)/
14517[? A& fl&wﬂbzv op ‘//W—M }Ul’? & szwﬁmlmf Do?lailtzo/)_

A-0-0 = 3 (e.j, 5.6-5 = 53)
Lﬂjuumj a a- Q- a —&n- 4" ls]m‘éaaﬂm,m}
WU\J] 7Lo kﬂ—&f a«,aw;b gﬁ 7LA2_, DMLC/ ﬁp m, %f/mjions

D a & — n+m :[Zr cb‘efypa;r oﬁ /Do;,//)/\t /ﬂJyUS
n,me//\/_‘ LOL*)/’ T

3+4

28" = (aaoﬁ)aao\aq] =a3+7*=a?
I 22 | R 3 4
) s CM)/ f  See ‘/Luj‘ ‘4/; 'S ‘)'/‘M n jz/w‘&j,
a" m
— n-
"2> am - A ‘ To Seq wL’)/J astume pof‘a
m,oyru/\+ %lwt n,m owe FDS'/?Z/'VQ "n%‘ijﬂf') w.‘}'l\ n=m
y
Q.ﬁ, 8 _ \a-\&'\a'@ _ 4-73 y-3
—_szb-—— - \6\?&75\ = a (0’7/}/ a Qa's

Srvive, 10 Fhe numMo/‘)



(2)
W we wont  He Pr‘o/a(ﬁ[}/ 2 = 5" - ta

a”\

ondinne o [l even when n<m, we hane to dilina

a"k — fé—ik— %LDP 0-/1)/ /;og,;l,l& k>0_ L\)Ly \

25

A - swewn |
a4 R A x

On))/ 04 In Jénom,“nL}of SWVIVQ,’

3) & =1 beeanse =@ = “g\—‘zjh
Compredencion Ched

wWhat s 0°7 DSA);?

) ()" = o™

This an be scen From o toncrck exampk

% 2 2 :
() = a8 = @a@aaa)= gb=ad’

m
d (&) =
‘n genr ( ) Qﬁ
A-C . O
n
m 0&‘0{', A :am
Q- -, Q



(3)

5) \/— I's /\ﬁf/\wu b)/ a

=|/Z = (8‘)'—_(1/&>=a,’}fbw, bO"SZ
(a*)” = o’ ko be o /W/m,,l)) Ht continnes to
}’wu pof Nonr ""’\Lﬁ/w‘ VA]MK M a,,cl)/
then (ax)n= "= a = xn=1 >x=4%
1 w"/{ S/om yon #\L ‘/‘o/‘)lw‘e,) but we Jo on 1o JJ»,\Q

(ﬁ' m, —~ IWJOL 7[[' Jbﬂ/l«»%lnoq Dj’ y
SDI/V\O) MM\ L\«U A& namlrwa/ [/,a,/\,[a)[/o/yg mMi A&
Carf/kpp [;r mﬂ"&.a 7[,5 ﬂc‘é oéu;au,g #\,j
a’,ﬁ - ak" /€ 5‘5 ; 52’—>

Sl/qj\ LD/)YIC((N}’O/\S [,Qﬂ.e! 'ﬁO /nMﬁJﬂj feajl»\%é/\g
£, Lohset 15 i ¢

Seludions I Hhis Covrge you @ Gt MVJ/
44 =42 =4 5o 15 = 4 = o mumber that
ohen mw”/,o’td L)z ;'#kzﬂg—’- 4 = #hx num&f =4
Simply g =4 wh

BN



()

Nowo La)(‘ us ‘l‘aJL aLoaf bjﬂ»z#mg Guw)/oo( |5 -

Hane eguations?
() R* =14
() 2%= 3
(Y %= 4
Solwhions

(@) k=%
(b) R2:2 =8
() a2 =|
@) 2'=%
(&) 2° =%
() 27- &
(N 2% =2
(b 2% =2

() %=z (5) 2= V2

x f_‘

© = 7% (h) 2 - /2

. T

(F) 2= £ (iy 2= =/3
=4 S0 2x=R (ng)
27 =3 So x =35 (Gm/ss>



(5)
How a/éou)(' 71‘)\)'§ W/bh?

R=-4

So/wl')’a/): |

2°=4  doeant ooof‘l(t 'lf x70 R s Some
mulipliatsinn J .,2, (or 15 I‘oo7)S> and 75 M P /"S’A"K
Dumber, I} x<0 2% =(§'—)-z Lohve -z>0
TA-Q/EJO/Q 29< 5 SomL m&J/)}o//’qu/bA ,/[ C‘;—%) (or/'lls /be.7ls>
&hc] s a %of:)’}m I?hmb(/‘,

Thee 15 ne /aJ PDumber 22 Sicll. Yt 2% % a ,my,é;q
Number,

M/P Mn"ol ‘)’Z,’s mam{: we- 5""‘/’/y (jMSS’(oj 7LAfL 50/1\JI'0/7'
I Nva coould you do 7/6 ockeol Ao SO/MQ %Q W;A
’2x = h ? i is no 101\92/' S/'m}o[x o jm)s\ Hho valng of
x{ Ez/mwlcalé// & W}’ I'mfor}a/# S‘k’f ‘n Solw'nj rrw.n/
problems €></>,i<nl/)( is Eo Name e 50/1/1}/'0/)‘ T hat Js
f/\e.‘zencl #\QJL yol/\ So/[AQJ ,'11‘

’22=5 =>Z=/0j25_
Deji az_:[a = = /Ojab‘ Thok Is -Mznm)ur
‘H\At F’Row] Ces ‘H\.z, POw of 23 &ho/ %QZ)/ /wﬂv é-



(6)
—FA/nI< OP A’)’C& N WOI\J,W,GAJ. 0\/70/ _H\K V',‘J SJ‘L
M + 0 SL/‘)'r\l(,

Ge,/ f»,‘/

(.

Yo don?t houwe 4o Hik obot the mechonoom
Jist Foll 0. mﬂlf‘égd[io/\ oand e 6/%2(} s cwlzr_uzm/’

EX. SDIMQ

x 5§ = F
@ 07 =3 (<)
b) 6% =R Cd) 7=
SD/LL]’Ib/)’,

@ |p*=3 =P x=Ilog 3 (Thrs o lilee Hha Eogen
He V:'aJ ‘H\af /\e&clﬁ‘. />/&az me owne/ [0 WJ}W{3>
(10) 2621'2 :372—:-/0‘74’2 (/>/naz me. OMU&&V\J}J

R)
(€) 52"7 = 2'_::}0357

(A) c{z =3 ::D e ';/ojc)B (:’n 7LL/§ 7% D we. con ,;{U,%'[
lojq'b = & bewuse wr know en {x/o/k#/ pumber Yot wo/i<5>.

NS



(#)
D:ﬂp{/‘e/)az IOJIM&‘ZA F(Anc%/‘bnS’ (,O/‘7[1{ ey/o/,'c,‘# )[’a/‘rm,\m
ond +the rest o

Many Sv‘u&#s Pird Hha idea of fo/um,g g uations
IM/)/ICHZ/)/ i M 4o o thas'r hoads oo and

(o onn wf“foms/«uo/ croend T 2 ,Ja‘7llln?§
bk Hhis is  cobuct 74‘”7 hove Lewn ‘J""\g ol Pra Hhne!
For exam/»(;\ we Solve  eguation of the -
2°-2=0 by Seqi x = wa -Jz ABwlf wld i
JEZ7 VR is qut & name!l 2h i ke atag on
Ha vail Hat resdsc mdbiply me by mysdl and 54
R, This deserption chesn't explicitly talk about #,
Numbe/,

Compretansion Uhad<

Ik s & notable differenc betmeen poly nowmials and
Pindions like donx, Siax, € /ojax, J=x et

_So/u‘l't'ol)i Talwe Some Fo))/na,,,/J) ID(x) = I"5:l:-l-)<:L
For instoncs. 72447 POX) JumLoz fo/;'cﬂl/)/ }ww 7L/~¢
I’ﬂf?uj by A1 7‘/\4/)3}70/»\.@/ (c’l}eaﬂtea/) 197/ P.




(3)
For instencn p(-1) = |=5(-)+(-X = |+ 5+ = Z
St dents SDJOCOASWM')/ mk Sbw[» exf/;mL IOA#-U/V%
For instence many  med<s this  commen m i dades.

Sin
X(X ) = Sin(x)

But stop and Hul!ll by ond when cncellade.

oY' 41-va MJO/I"S?
o

Sin(x)  Sinex , 21 s a wd name [or
A complax Comww\\cl, The name gives no chue od 2l
dhoct the oritlmati OW/"M? w:ﬂx Hhat
wou l desombe wolat Sin s J@ % (Ds #w]w
"ﬁxv'd?)

Yow m%% Hink Yot Fenchions ke 27 are expledt
Mo al| =222 =8 -a proes Pt dscrles
w,'#ml,'@,}l/ what is explic )/ [\Ff,@m n& to 3

U, eter 2% = o How would you deserike Y
by on exf/cn[ W/’#m e D/Zef&ié'or\ :

Recoll Hot we were abls #o extalbolisl Hhat

S { . n
= I+ X+ TR o WX



(9)
Thi's can be pom/oAm.;eJ L)/ Smj/ JL‘JE 6 (s an

H\LmJ{ /)a/)/nommj) s on 57‘/’/16 a/%&ém:g o/acfaalm
7‘/\1\2': /9/\@&5’% ( 2 Iikes 7‘& Loo/b) Vuw&/ﬁ%}

x In7lo "!'X"’;'_'X "‘g")( .o+

n /)Ma[zcx We truncate Fhe indinke fé&nom, and
Jet on a/opmchJzom

G you bird such polynomial  procass for $ix and G
U is & Similor shory it /ojﬂ log, % chesn’}
dexcribe  wobud is lmf/;mwj voiH x w/#mmtm//
Pno,w—ﬁ;@, o Lojw,’#mg

The expression /o}&x means . plac me ove o
cnad 9ot x,

Compredansion Chacls:

Lobut s 5 10350 7




(lo)
So/w‘/'fo/)‘, [_aj,’d'y

5/035@ ___’ @ ACW Ioj5© P

”/>/AuL me o/ 5 g\nJ}Q} @”
One. bhes to Ea um/ﬁwpf

Ex. 5/035(_?7 =7

log - (-
Sa/ud!ro/); 14 /s iw/o‘{/l'\s ‘,‘o S&j +L\,¢AJ: 5 35(7)__-_7

Howseves, 10 /‘e.wo powe of 5 corl )’I'Q/u A QQ?K"LI'VQ
Nnumbers, | )

" s smwﬂu'yﬁ We o &xp boin [oder (L}, o X
infermediake. Valna %Lwnn)’ bit }"jo\x rwd<og,
Sense P erry 0> 0 'ond ey X0,

IOjaX maons  “ T om the W19 he FOWO)C o Hhat
F’&&J 6Le” L gl'ws,g ® 0,

We observe 4ha Follow;'mj l'm/aor‘)'o,,r}’ )DO‘W””JLM/'&
FPD/DI/”})'@%:

) )oja(/\l\-l\” :/DjaM 3 )"jm/\/

2) I"jo‘(—/_/\\;\’\ - ,"jQN\ - lea}\/
%) log (W) = rlog, M
lo3, M\

1) (Chonge o basis) Jog, = 122




(1)

Pl‘oop', : ’
l) alon!MN> _ Fl{/\/ .= ‘&'OjAM &}Oja/\/(
_ ot tlog,

Thig ,/aja /V\A/ i IOjaM +/oL/\/ ‘
2) /\/@73 youl %wn , &/ry ad @ C:'m:’/a/‘ Ca//aja:é’om
log (M r [o
) o M) (a;ohm> _ a_r_:pA




(12)
D.@:WIIIW n: {Xfofl,e/\‘/‘/'cy( pmcl'fmi

lo}a"‘"ﬂ‘”’ éﬁ&i e s So I‘W’/)O/V[Q/\?L 7l[\pf we Caj/tl
%/\Q ﬂa?l’u/n,l IDJA/‘/‘/%VA anc/ wnn& L’\’JC l'nfw Of

/ojex,
ZQUJ' how we dfleediab g 27

2x+h __‘;Zx ~ J Pl ;Zk _2x
f: (2x> = / o h — lim A
h—>o0 h—>0
) 0,0l

= /n'am - 2::, = '2%' '20‘0'—1 ’,:,/,-2)((@‘@74)

h—o

We can .;lo Sommlzw’n.s &#&f{

d / ()
J%(Qx)z_gg;_(euz) 2 ﬁm )
_ C(an)x- ([:Lnﬂx>/ _ Q(L”QDX. L/.,z
-,-(;AA'Z)-((A,,QJ = 2 =i
nc, n
A W, . .

N
L (a) =5 ¢t

, o - | ~ Ln
Obsyv/e W /Lv; h = A

S - |

I
N
§\.
PN

I

0




(13)
Ex.  Find +he J,Q/ff/wﬂ(ﬁ/‘@s

@ = ( 55<o«> ©) $ ( Seel 5"))
b & (F) @ & (tn(3)57)
So,od‘t"on;

@) f,l:[5sux> = 556<f< lnS . Secx tanx

2

(b) ;fi—(ﬁ\xffv = K heaian x>+ 2 -3x
©) ﬁ(sec(m)= Sec (57 )4an(57)- 57 b5

0/ x x 2 X
) j;_(ic‘\n(S >+3+¢4 ) = Sec?(3*). 3 fas +

Foax

+3 ‘ZMS‘SPQQX.



